T02

NNMy NIrnT '
©mny nanrt

228 $’ANT, 7029 NN NIINIY — 73 PN 6 N2 DH9N PIND

2YTNN NONN 2NN NMINRAN NIV IN NN

22X —y? 27" +x2=-4 .1

NINS
2 0 1t
2
A= 0 =1 0 | :NMN NMHIANN OV NXIVNN
1 0 -2
2

PR INYRIN NNVI, X7, Y2, 2% SW DRTPHNN NOOYND DY TUNI NP0 N¥IVN 1N
. ZX, Zy TPVIOVYN NNV yX, yz MIVN NNIVIA, Xy, Xz DV DMITPNRN

: N DIANN
1
-2 0 > X
x ¥y 2] 0 -1 0 <y>=—4
\ 1 Z
5 0 2

SN NN NOIYD NN 190 MILVD A
: DYNNY DYDY N¥)
: [A= 21| =0 DAN MW PPNINN DINDINN NX K¥N)

|A-2l|=

- (—1—/1)[(—2—/1)2 —ﬂ = (—1—/1)[(2+/1)2 —ﬂ =0

,=-1,2+2)-1=0=(2+) = =2+1==1

R

0TIV D) TONN YXID TNX PRI DDIMINNIN NDPNNIDN P IVIAPTIY YN 130,00 YYD
1



T02

NNMy NIrnT '
©mny nanrt

OTIP NNINY 4 953y (A-A1)v=0 NN NIND MYNHNNI Y71 R¥ND)

A =-1"1y
1
0 0 0 <y)= 0
1
Z 0 —1/ 2\
2
:22P) 19
1 1 1
—X+-z=0=>Xx=-z X =-z
2 LI 2 >x=02z=0
1 11 3 x=02=
-X—z=0 ——z—z=0=>—-—2z2=0=>2z=0
2 2 2 4
0
Vo= 1] 08y NOPN YaPN y=1 N2 OWN y =0
0
0 0
U =1 :999 || 1{|=v0?+12+0% =1 :5H7131 922 N NOP
0 0
5
A, =—— 1Y
& 2
1,o1! 11
2 2 - 0 =
3 Ry—R—Ry 2 2
0O — 0| - |01 O
2 %RZHRZ 0 O
1451
2 2
1 1
(z 02
3 X (0
0 - of{y]=|0
1 1] 7 0
- 0 -
2 2
AP RRpY
1 1
“X+-z=0=>Xx= -z
3
- =0$ =
2)’ y
SvaN 20



T02
nNmv NIrRT ‘72

©nax nant
1
2V, =| 0 | 08y MOPY P9 x=1 W) z=-1 IND
-1
1
. 1 J2 1
’@:ﬁ 0 |=| 0 | 99| 0 [[=22+0%+(-1)" =v2 : ymx 0
) |1 -1
J2
3
A, =—— MY
& 2
1 1
(05
R VN
o)
- 0 ——
2 2
:92P) 19
1 1
——X+-z=0=>X=12z
2 2
1
Ey=0=>y=0
2voN 20
1
Vo =| 0] NY NP PN Xx=1 N z=1 N
1
1
. 1\ |2 1
U;=—=|0]=| 0 | :y99 || 0f|=v12+0*+1% =42 1M Y07
J2
1) | 1 1
2
: D NNYTN TNOIONRM P 1IOMINININ N800 NOP
1 1
-1 0 0 0 = —
: 2 2
D=| 0 - 0 P=|1 0 0
1 1
3 0 —— ——
0 0 - 2 2

:22N)



NNMy NIrnT '
©mny nanrt

y|=Ply'|=(x y z)=(x' y' z')P'

-1 0 0 ,
; X
(x* y' z')| 0 -5 0 ||ly'|=-4
z
0 O —§
2
D=P'AP
5 3
X?—Zy?-Zz7%=—4:(-4
Y327 =i ()
12 12 12
X Y L

T02

:PYIDIN NN 2OX)

: ]3‘7

STPRIDOON NOP

AN VAVYNI YNNI NPV IN 2120 N DRD VI1APY >TO2

1
pl=a(-1)"*| ¥2
("

- |P| N 2w

22PN NIV NNV HOD NNI)



T'02

nNmv NIrRT ‘72

©mnx nnanrt

220272710 )9

222700 PRIDON NOP

:x',y', Zz £ 299 N

L X, Y, Z 99 TPNPNRN N8N




nNmv NIrRT ‘72

©mny nant
X2 —2Xy +8xz+y* —8yz—27* =36 .2
Y9N
1 -1 4
A= -11 —4 ] MmN NNANN YV NXIVNN
4 -4 -2

PR INYNIN NNVWA, X2, Y2, 2% S DINTPNRN NOIYNN Y TUNI ,1PI0M0 N¥IVN N
.2X, 7y TPWOHYN NNV yX, yz TIWN NNVA, Xy, X2 YV DIITPNRN

NN 122NN
1 -1 4\ /x

x vy Z)(—l 1 —4><y>=36
4 -4 =2/ \z

A

SNMNNNN PNOIYD NN 190 NIVYD A
: DYNNY DYDY N¥N)
: [A= 21| =0 DANT MW PPNINN DIDIAN NX K¥N)

-2 -1 4| A 2 0 1 1 0
|A-All=|-1 1-2 -4 o, -1 1-24 -4 |=-A-1 1-4 -4
4 4 2-1 0 -41 -18-1 0 -41 -18-2
Ry +R—R, 1 1 0 ml2=2 -4
= -0 2-2 -4 |=-4-1.(-1)" 4 _18_/1‘=—/I[(2—/1)(—18—/1)—161]
0 -4 -18-4 R

=—A[-36-21+181+ A" ~164 |=—A1(A* ~36)=-1(1-6)(1+6)=0=4=0,1,=6, 4, =—6

LOPNRY DI TONN YNID TNN PRI DDIMINNIN NDXNNION PN DAPTIY WD 13D, 00N YYD
DTIP NRINY 4 952y (A-A1)v=0 NDIWNN PNIND MYSNNI Y1) NSN)

4, =0 My
1 -1 4 X 0
(—1 1 —4) <Y> = (0)
4 -4 =2/ \z 0

X—yY+4z=0=>x=y—-4z X =y—4z
4x —4y —22=0 :>{4(y—42)—4y—22=0=>4y—16z—4y—22=0

22 190

>x=y,z=0

T02



T02

NNMy NIrnT '
©mny nanrt

1
Vo= 1] 08y NOPN 92PN x=1 ) y=1 N2 OWN y =0
0

1
U=—r[1|=| =] 9 || 1[=v12+1240% =2 - IMN 5
J2 J2
0 0
0
A, =6 May
5 -1 4 0 24 24 0 24 24\1, (0 1 1 1 1
R-5R, >R, Ry+R —Ry 241 R,—5R, >R,
-1 5 4| > |-1 5 4| 5 |15 4[> |154 - [10 -1
4 -4 -8) ~lo —24 —24) " "lo o o0 00 0 00 0

.DI0Y) 3-2 MRNYN 3 NN O) IWIN : DIVN

5 2)0-0

y+z=0=>y=-z

. :22P) 190
X-2=0=>x=z2
V9N z#0
1
WV, =| =1 [ 08y NOPY PN x=1,y=—1 W) z=1 N1
1
1
Uy =—=| =1|=| —==| 9 || -1 [|= 12 +(=1)* +2* =3 IMK 99
=5 A VE+(-1)
1 1
1
NG
-1, =—6 My
7 -1 4 0 48 24\, 1, .(0 48 —24\1, (0 2 -1 02 -1
R+7R, >R, 375 24 1T Ry +4R >R,

17 4| > |17 4 5 (17 4| > |17 4] - 110
4 -4 4) "o 24 -12) " "lo o o 0 0 O 00 0
0 2 -1\ /x 0
1 1 0 <}/>=<O>
0O 0 O z 0

2y—z:0:>y:12
2 192 190

x+y:O:x:—y:>x:—§z



T02

nNmv NIrRT ‘72

©nax nant
S9N z#0
1
Vo =] =1 N8y NMOPI PN x=1y=-1 ) z=-2 IND)
-2
1
1y | Ve 1
T2 R e = (2 +(-1) +(-2)" =V6 1m0
J6 J6
-2 -2
_2
NG
: D NMYTN TPNOIONM P IILIMNNIN N¥I0N NO1P
111
00 0 f Jf 4?
0 0 6 NFEEENCIENG
g L _2
NEREE
L dN)
X X'

: ]Db




T'02

NNMy NIrnT '
©mny nanrt

2212990 5 W5P
A9MN LIVNT YNNI, NPV IN DD NY DN $12PY 771

. |P| Ix 2w
111 111
2 B 6 2 B 6
l 1 1R2+R1—>R22
Pl= = -—— ——=| = = 0 0
A N B W
o L _2 o L _2
J3 6 NERNG

22PN MY NNV 9D NNA)

6:_£(_2_1J:6:1
2| 2\ VI8 i) V@
6

.22101 9912991 D9 N 9Y

1 X, Y, Z 292 TPNPNRN NNNN



NNMy NIrnT '
©mny nanrt

2 2 2
54_414_&_8&4_&4_24_%_%4_2_ =1 .3
3 9 3 9 9 3 9 9 9

:b:lp)\ 970) ,0°92¥N1ND 909 . AXNYNN NN VYI) 9NN
2 2 2
§+4L+ﬂ_8ﬂ+4i+£+ﬂ_ﬂ+z_: (9):>
3 9 3 9 9 3 9 9 9

3X+4x* +6y—8xy +4y’ +62+4x2-4yz+7°=9=

AX% + 4y +7° —8xy —4yz +4xX2 +3X+6y+62=9

4 -4 2
A= -4 4  =2| MmN Mann by NNdILVNN
2 -2 1

PR INYRIN NNWA, X2, Y2, 27 DY DIRTPNN PNOIYNN DY TURI ,1PIVNDD NYIVN N
. ZX, Zy TOVOVYN NNV yX, yz VN NNIVIA, Xy, Xz DV DMITPNIN

N DNANN
4 —4 2\ sx X
x ¥y 2)[-4 4 =2 (y>+(3 6 6)<y>=9

2 =2 1/ ‘\z z
A

HININNININ PNOISS NN 1921 MILVID A
: DYNYY DY NN¥N)
: [A= 21| =0 DANI MW MPIINN DIIINAN NN NX¥N)

10

T02



nNmv NIrRT ‘72

©1x nant
4-1 -4 2 C R R -A -1 0 1 1 0
|A—M|: -4 4-4 =2 = -4 4-1 —2:(—/1)(—2)—4 4-1 -2
Rs+=R,—>Rs
SR BN R S R
2 2

JPYVHY NMWYN 0N MIYRI NNWN D) 1P NRIIN

Ry +4R >R, 1 1 0 8-4 -2
= 20 8-4 -2[=2%-1(-1)" =22(8-A+1)=4*(9-1)=0=> 4 =4,=0,4 =9
1 ]z !
0o = 1
2

OTIP NNINY 4 95 M3y (A-A1)v=0 NN PNIND MYSNNI Y71 R¥ND)

A, =4,=0 My
4 -4 2\ /x 0
5 2)0)-()
2 =2 1 z 0
:92P) 132 ,NMNYRIN NNV DY 19D N9 N NPV NIV MMV

4X-4y+27=0=>Xx= y—%z
LDAN DMV DIV KD TUNRD DOWIN Y,z el

:]Db
1
x) | Y7357 1 9
y|= y :y{l +z| O
z z 0 1

1
v, _{ 0 | M8y NOPNYIAPN y=0,z=-2 IND

1
N, =1 DMy My 5apy y=1,z=0 IND
0

- 1D DINMNINNIN OPN NODPY WD

1)/(1
01[1])=1+0
-2)10

: 2 97OR NI DY V7Y NIAY NIDPY DINXYN DXNVPIN MY DY UTNRY-DXRI PHNN YN8

A=4,=0

11

T02



nNmv NIrRT ‘72

T02

YN DOINNNN DNOVPY AW PHDP

©1ay nanr
1
w,=v, =0
-2
1 1
1 L0 1 1
(v, W) 0) (-2
, =V, — oW =1 1= 5 0|=|1
e 0 1 2] lo
0
-2
! 1
0 il
1) | &
LU G
= = = =
”Wl” é \E -2 _i
5
-2 \F
4
5
X a4
W, 5 X 1 > J5
u, = = = 1 =3 1 =22
5 g \/g g
1
2
5
-5 4 -9 9 0|13 (1 1 O 1
R,+R, »>R; gt 't R, +4R >R,
-4 -5 2| »> |4 5 2 , > |74 O 2| —> |0
Rs+-R, =Ry ~ZRy—R,
2 -2 -8)°:2 0_9_99 o 1 2 0
2
1 1 0 X 0
0O -1 -2 <y>= 0
0O O 0 A 0

12

: ©NVPIN NN DN

4
4] 136
| | B
1 =] X2
3
21
>/ |3
A =9 My
1 0 1 1 0
R3+R, >R3
1 2| > |0 -1 -2
1 2 00 O



T'02

nNmv NIrRT ‘72

©nax nant
~-y-72=0=>y=-z
. y y :22P) 190
X+y=0=>x=-y=>Xx=2
2N z#0
1
Ny = =1 ONNYNOPNDIAP) . x=1y=-1 ) z=1IND)
1
1
V3 1
1 2 2 2
e 90N YN 199 || 1 | =12+ (1) +12 =43 MNP
1
1
3
, 21
il 3\/5 NG
V5 F 1
(N INYTN TNOONM P=| 0 ERNG N TPOIMINNIN MDIDNN NXIVNM 19D
2
_ 2 1
5 e —_
0 0O
D=0 0 O
0 0 9
;N
X X'
y|=Ply'|=(x y z)=(x"y" z')P
Z z'
:22P3) MWNDIN NN N
P
, 21
— 35 3
0 0 0)x' N3 j; J? X'
(x' y' z')0 0 Oy |+(3 6 6)] 0 — —F2|y'|=9
. 3 B,
0 0 9)z 2 z
Sl X L
D=P'AP 3\/5 \/§
9 18
(% % ¥

13



NNMy NIrnT '
©mny nanrt

92'2—ix'+1—85y'+\/§z':9‘:9:>

NN -

: I NNHYN YN

|

|
b
+

|
<
Il

{HQJZ L2 . 109

1
557 108

.Z' N2 NVNY N NI P9I I
ADIN VIYNI YNNYI NPV IN 21220 MY DR WIAPY 172

: [P N awm
1 4 2 1 4 2
5 35 3 V5 35 3 B2
o-| o J5 sl 52l 1, wal 3 3
Pl=f 0 2 -2 =0 2 -Z=()
3 3 3 3 J5—-|10 5
2 2 1 o 10 5 35 3
V5 35 3 36 3
_1(¥55,2 101 5.4 ,
50 3 3 335

22700 91299 DYDY NHP oD
:x',y', z" D8N Y PN

14

T'02



NNMy NIrnT '
©ny nant

ra

A

A
[ h]

-
:\E]:

o

h

R

o
I
4T
TR RS
B

b T

LB
75

X, Y, Z 292 NPNN NN

4]

15

T'02



